Pensieve Header: The uniqueness of Rin g calculus.

nz)= SetDi rectory["C: \\drorbn\\ Academ cPensi eve\\ 2012-01"];
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BSinplify = FullSinplify;
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Rm= W[1] + Sum[ooi.j [c[1], c[2]1 ar(i, j1, {i, 2}, {i, 2}],
tl=Rp=*+xRm
t2=Rp+ (Rm// dP[1 53, 254]) // dm[1, 3, 1] // dm[4, 2, 2]

} 7. a_lcll], c[2]]1 =» a// BForm // Col umForm
W1] h[1l] h[2]
outsl= |t [1] p11 P12
t[2] P21 P22
W1] h[1l] h([2]
t[1] on o1
t[2] oa o2
W1] h[l] hi2]
tr1 1+c01 C[2] p12 (1+C[1] p11+C[2] P21) O21 (1+c[1] p11) (1+€[1] p12+C[2] p22) O12 )
[1] pa1+ (1 +C[1] p11) o121 + 1ro (1) or2ec (2) 22 P12 + 10 (1] pravt (2] oo +C[2] p
1+c[1] p11+C[2] p21) (1+C[2] p22) 021 C[1] p21 (1+C[1] p12+C[2] pP22) O12
t[2 1+c[l { cl2
(2] P21 (L+cll] on1) 1+c[1] p12+C[2] p22 P22 + 1+c[1] p11+C[2] p21 * 022+ C[2],
1- c[1]c[2] p21 012 hri
M (1+c[1] p1a+C[2] p21) (1+C[1] 012+C[2] O22) (1]
2] (1+c[1] p11) p21 (1+¢
t[1 o l1+c[l] o ol
(] w+on (L el o)+ i o e 1) o ci2) o)
t[2] (1+c[1] p11+C[2] p21) (021 + Pa1 (e (1) ou) |

1+c[1] o12+C[1] p11 (1+C[1] 012+C[2] ¢



2| Unigueness of R.nb

nel= eqns = Joi n[
BEquations[tl == W[1]],
BEquations[t2 == W[1]]
1 /. a_[c[l], c[2]] » a
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In[16]:= {
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Ro+ (Rm// dP[1 -3, 2-54]) // dm[l, 3, 11 // dm[4, 2, 2]
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